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a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-




2. x+y+z=1Lxy+yz+zx=2xz=34 M, (x+1)(y+1)(z+1)
of ke Fatoler,

> E.

> ®™e: 7

x+D+1(+1)
=xyz+xy+yzt+tzx+x+y+z+1
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3. (4+3)(4% +3%)(4* +3%)(4® + 3%) & FHs] spH?

@ 45 +38 @ 41531 @ 415431
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~&B

(4 +3)(4% 4 3%)(4* + 3%)(4% + 3°)

= (4-3)(4+3)(42 4 3%)(4* + 3*)(4% + 3°)
_ (42 _ 32)(42 + 32)(44 + 34)(48 + 38)

= (4% -3")(4* +3) (4% + 3°)

= (48 - 38)(48 + 38)
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(a+b)"=A, (a-b)"=B
(£4) = (A? +2AB + B?) — (A* - 2AB + B?)
= 4AB
=4{(a+b)(a-b)}"
=4x2"
— ont+2
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Al ¥e] Zol7t a, b, ¢9l AABCOl ti5to] a? —ab+b? = (a+b—-c)c
A TAZESHS wl, AABCE= ©o]H 42317 Astoiet.

a’>—ab+b* = (a+b-c)colA a® —ab + b* = ac + bc - ¢
a’>+b?>+c?—ab-bc—-ca=0

2, @b+ (- + (-2} =0

a=b=c
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(x+y+22=x>+y>+22+2(xy +yz+2%)
0=442(xy + yz + zx)
Cxy+yztzze=-2

(xy + yz + zx)?

= x%y? + y?2% + 22x% + 2(xy’z + xyz® + x%yz)
= x%y? + 3222 + 22x% + 2xyz(x + y + 2)
4=x%2+y?22+22x2 +0

oyt i 4 2 =4

(XQ +y2+22)2:x4 +y4 +Z4+2(x2y2 +y2z2 +22x2)
6=xt+yt+z4+2-4
Caxtyt =38
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(x4+y)2=x+y*+2xyoll A 32 =7+ 2xy, xy=1
(x+9)3 = x>+ 93+ 3xy(x +y) oA x® +y2 =18
4y = (2 +y°)( +y%) - Py (x +y)
=7x18-1°x3
=123
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